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( B )1. If fix)=x-2 |+ |x+5 |, then the minimum of f(x) is .(A)3 (B)7 (O)10 (D)12
e

Ox<-5 » fix)=-(x-2)-(x+5)=-2x13>7

@-5<x=2 > flx)=-(x-2)+(xt5)=7

®2<x » fAx)=(x-2)+(x+5)=2x+3>7

i 5=7E B

( B )2. © 4v270°<0<360° " cosﬁ——’ Hsin26=2 (A) 22 B) =¥2 () 22 (p) —i
<fEAT>
s1n9—£
sin26=2sinf cosf=2- —— 22 . l— ﬂ
3 3 9
Z Bo

(A )3 BLELE 33 & 4x4 > @ il k> 4ok & 12x12 602 ¥ 5 kL Bl
HEH o~ deF o PIETE O~ 0 144 B B8 % 52 (A)650 (B)750 (C)646 (D)746

<fRa>
B RS R 12 K = &7
/él / 11234
1 1’
) 1 3 1121313
1 2 1 9
) 1 2 1121212
1 232 1 —3
1 1 11111

A o= 12243247 4122 2 12x13x25-650 0 4 A o
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(€ )4 By o5 E R H Rk )ade) 5552 (A4 (B)6 (C)9 (D)12

<fEAT>
. 4 4 .
B =Atxy+—+1 = xp+ =145 2 x>0 y>0 > wxy>0
xy xy
4 4
- xXy+— 4 xyt— 4
% B %7 5 N2> [y - > P> xp+—>
;H —ﬁ}é ¥ 2 yxy 2 _2 Xy xy_4

«gscxy+xiy+sz4+5:9 » B} BE 95 ECo

( D )5. = 4rlog6=0.7782 » 2 $10°7%2=2 (A)7.7 (B)8 (C)7 (D)6

<fERAT>

£10%7782=,

10g100‘7782=10ga—>0.7782 X log10=loga ° loga=0.7782 > a=6
# Do

(A 6. Efix)=x?2ax+ta > FERF x> ERA)>22 > » KF #ka mq% F5?
(A)-1<a<2 (B)a>2 (C)a<-1 (D)a>2 & a <-1

<A >

¥ x22ax+a>-2 > x*-2ax+a+2>0

£y = x?2ax+(a+2)>0E &

2 5] 38 D=(-2a)*-4(a+2)<0

Ca?-a-2<0—>(a-2)(a+1)<0 » -1<a<2

A

(D )7. %0544 2 cost2sing=2 » fsinf+cost=? (A) = (B) = (C) < (D) <

<fEtT>
cos#=2-2sinf—cos?6=4-8sinf+4sin 0

1 — sin’6=4-8sinf+4sin’0
.".55in?0-8sin6+3=0—>(5sin6-3)(sinb-1)=0
plsing=2 & sin0=1(7 &)

sin0+c059:(cos@+2sin0)-sin9=2-%Z% »iE Do

( C )8 Ffiw)s 53858 > £ 4 (x+2)(x2—x—1)",$1 s S48 ) 2 AR50 5 2x2-6x+5 0 B f(x)“,%
P (x2-x-1)2. 458 52 (A) 2x+7 (B) 2x+7 (C) -4x+7 (D) 4x-7

<fEe>

£ AX)=(x+2)(x%-x-1)-q(x)+2x2-6x+5

D> Ax0)=(x+2)(2-x-1)q(x)+2(x*-x-1)-4x+7

=(x%-x-1)[(x+2)-q(x)+2]-4x+7

CoARN=A4x+7 > 3 C o
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(A )9. FA6,2)fB(-1,6) > C & x #ht — B> F LACB=90°> P| C Bherdki L 5 i
(A) (29 0) N (37 O) (B) (-23 O) N (39 0) (C) (2> 0) N (-3: O) (D) (-29 O) (-39 O)
<fERFT>
B3x C(x, 0)
mAC_G_ ’ mBC—: s ZACB=90°
Myc * mpc=-1
SR 12160 1) 12556+ x-S 6=0->(x-3)(x-2)=0
Sax=3 *‘x 2

Al C B4 15(3,0) (2,0) > £ A

( B )10.In abacterial culture experiment, the original number of bacteriais n,. After x days,
the bacterial count becomes n(-a*. It is known that the number of bacteria after 2 days
is 3x10° and after 5 days the number of bacteria is 2.4x10’, which of the following
is wrong? (A) a=2  (B) ny=2.5x10° (C) After 7 days the number of bacteria is
9.6x10". (D) It takes 9 days for the bacterial count to reach 3.84x 108,

<f2te>

£ fx)=ngy - a*

A2)=ng - a?=3x10° ; f5)=ngy - a5=2.4x10"

fg—a —8—>a=2 & » ny-22=3x10° > ny = 7.5%10°

AT)=7.5%10"x27=9.6x107 ; {9)=7.5%x10°x2°=3.84x10% » £ B -

(A L & i He<q,>= a5 P8 oW 5 o Pk E3a12a5=3 0 ast5a;=6
» B#2=? (A)2 (B)3 (C)4 (D)9
<fRtT>
3a,+2a3=3a,+2a, - * = a;(3+21*)=3+--®
astSaz=a, - r*+5a, - 1* = a;r*(?+5)=6+-@
o) 3+2,2 1

= — 2 5402 0, 2 —() 5 2= N 2—_
MG = mgas =7 620> (r 2)(P?+3)=0 » =28 12=3(% &)

A

( D )I2. “W*7 > % ABCD 5 FI} fw i82; > ¢ svdB=4 » BC=5 > CD=4 » DA=4 -
14 & 5AC=? (A)3 (B)4 (C)5 (D)6

B

<fRfT>
FIP &2 #2359 ~D=180°- /B
.".cosD=-cosB c 4
AABC £ NADC *# \ /
I Aaz g2
L2 AC S45RAC

dxdx4 | 2x4%5

AC=36 » AC=6 + £ D
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a b c

13. e frg~brc s Bl F + +
CC) - R Flogy 120 logy120  log120

(A)3 (B)4 (C)5 (D)6

=1 P atbtc=?

2>
-4 b ¢
log,120 log,120 log 120
2> 1=axlog ,,2+bxlog , 3+cxlog,,,5
> 1=log,,,(2%:3":5%)
2.3%.5¢=120=2°x3%5
S.a=3 0 b=1> =1
Rl atbtc=3+1+1=5> & C o

( C )14. There are 3 black balls and 2 white balls in the box. There is a game where any ball
1s taken from the box. Assume that every ball has the same chance of being drawn. If
you take out a black ball, you can get a bonus of $50, and if you take out a white ball,
you can get a bonus of $100. What is the expected value of this game bonus? (A) $50

(B) $60 (C) $70 (D) $80
Gie>
8% & E=P(2 3)XS0+P(5 3#)x100= 2 x50+ x100=70
FCo

(A )IS. 369442104843 EAEED 2 o XFRTAAES BLkp? > 5
A2LEPA PG 1 AT A B AETRE A N EF 5RO
(A)43200 (B)41600 (C)32400 (D)35400

<R
A Pp-F9LEp 4
% Hp - = = y E
, g g g g g
B p A
g % 2 2 2

PE2BYT ARG o LRFIT T A Jodehd 4 PR

C5 x C3x41x41=15x5x24x24=43200

QI PEEY - T AP T iz X
6 %5 4 Lpe2 -
£4 43200 B > F Ao
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<fE4e>

B EHx=x > @Fy=x o PRFEKHy-1)=x

2R Bxt2pt2(xhy-1)=23d5x+4y=25 > H ¢ x~y 52 f Kk
x 5 4 3 2 1 0

0 X X X 5 X

OLFS= ®B0=x - >i2dkt 14

<

S B ERE RN SF -7

£4 1+6=7 5 E Do

(B )IT. 4o A S5 3] BB A AB e % 2 i A (A
-‘T'Jé B,ﬁfﬂ:’—a‘l’ > A ;Eﬁ T_?";T'JA’&}‘!:,) ’ E'J“iﬁD,@Zé«dﬂﬁ‘&ﬁ{’?
59 z 2 2 Bl
W im oo
<fERAT>

i 1k )

(A )18 %37 2 A0)=(1-x)+(1-x) (1) +(1-x) oo (1) 0337 et 5 5
(A)-330 (B)330 (C)-320 (D)320
<fEAT>
1-0[(1-0)'%-1]1  (10"-(1x)  (12)-(10)"
flx)= = =
(1-x)-1 -X X
o BcE (1) B BN P xtE ehi i

C-Ci'=23300 3 A o

( B )19.If x>-x+1=0, then x**x*22x+1=__ (A)-1(B)0(C) 1 (D)2
<fEAT>

X2 -x+1=0Dx?=x-1

et D)+ D=0Dx3+1=0 » x3=-

202352022 = 12022y )=, 2022 L )2 — 2024 = (x3)674. )2 — 2

§2023_,2022 4 {1 =2 4 {1=0

s

E#B-
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( C )20. §x= Blx*-14=2 (A)15V5 (B)18/5 (C)21V5 (D) 24+/5

<Rty

3+/5. 345
S fry=—

Xyt =020 =(H ) ety ) ()
x2+y2=(x+y)2—2xy=9—2=7
4 A=7x3x/5=21/5 » i C -

( B )2l —:}Bérﬁ{ﬁ“—:}%‘é Mtet AR 124 40 T A p ugT 2 I
4

TR S R REE ST A T L AT (A)55 (B)66
(O)110 (D)132

<fZ{7>

11+10+49+... +1=(11+1)x11+2=66(=x )

# B

(D )22 +4%"% 16 B
Oix4y - B#cF Blazk » L Jo BlAs K ehfieF “7 a7 ~ 7(H 8 dlicF §7x o O]
TORBHETY o T BET B4k B P BlAr R h#F Aren{T ~ F[H B b
BeF > ®i [T 4 BHEFY > ETH- BEF Ak L BlAs kT T
7~ FIE W T g e @B S FIT 1 BT BlAz Kk o BlAKk 4 BT AP
g ‘«Lr] Lo Gk T 7 R 4357 (A)m=3 (B)r=7 (C)w=10 (D)p=10

<fE47>
fe=at+btctd+x+y+z atz |aty |atx | a r|v | m| |1l
m=1+(12-10)=3 ; v=3+(15-12)=6 5
= =7 ; w= — b+z b+y b+x b t w h
r=6+(16-15)=7 ; w=5+(15-10)=10

=4+(15-10)=9 s | p|q|H4
p. - ( ) ctz |cty |ctx | ¢

LD 16 |15 | 12 | 10

d+z |d+y |d+x | d
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( C )23. The right column is the division of positive integers, the remainder is 7, and the

number 1n the bold box 1s not 0. Find a+b-c-d=?
(A)3 (B)4 (C)5 (D)6

[
|
[]

<fZ{7> @JD b
T i RRE_T K$§£a=8 & a=9 ]
% a=8 % a=9(* &) ]
(7] ] 1] ElD
)% W)T\W B
8 9
@ 7 @ 7
][]
(8] 9]
7 7

J.a=8 > b=5>c=1d=T7> B 8+5-1-7=5> £ C

(A 24 EA27F1F338B RAVAI2Y 17p ()5 121 240 (3) > &8
SR L EER RS L SRR LR L

. ! 1 1 I 2
FEL2(A) ;B (© 5 D)7

S (= v I) (- I E)(ErEE) (B T (E T )

( B )25.n!'% 7 1x2x3x4x...... xn (]4r:41=1x2x3x4=24) » 4-% 3+ 5 15!=130767a368000
» B a=2 (A)3 (B)4 (C)5 (D)6

<fE#47>

ISVenfrdics 2~3~5~7~11~13

. 130767 a368000 # & 11 i3 #Hc

(3+7+74+3+8+0)-(1+0+6+a+6+0+0)F_0 £ 11 7 Hc

28-13-a=0 > a=15(% &)

28-13-a=11>a=4 > i B -

<¥ jz>

15! 8_9 ehiz #ic
1+3+7+6+7+a+3+6+8 H_9 i3 #
41+a=45 » a=4
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1. 4% B » AABC # > £C=90° > * AD=DE=EB » * v LACD=0+ ~DCE=f + L ECB=y
\Jsma Sl‘I’l]/r‘rJ 7\}\% /,)?
sinf A
<fEAT>
4 AC=b » BC=a » CD=x » CE=y D
! psina—— : Laase=tLap=Lap L
— = — — — — X — = —
3 xsino= 2xys1n/3 aysiny= 3 3 5ab=za
lab 1 lab —ab ( B
Osino=1-=— ®smﬁ=?—=£ ® 1ny=?—=3£
sz X P Jay Y
. Sinasiny _ %% _1
sinf3 ab T3
3xy
2z, 1
£ 3

AR EHA ) 1911 2 F ~FHeo Bl AR 74 & 0 F 7 74+1911=1985 & » 5 & §_

2022 # - ##4F 2022-1985=37 fk > i * FinenE e x oo RS BB (S S S
g RIS Y

QR - 7 RS i o B 2l

@ it FHcF F 1 8

@Kis4cF 16 £ F 12 125

@1F 1| fE Et"f'l 10
®Fe {7 | erficte ] ]

® 5 {s - 113?3*7,% v * i B fedip 2 (%b YA g v E s IR AR (&,J)—J‘ e i Bk

S T T i KR (47 5 e o

<fRie>

E#x — 14 (2022-x) &

(8)+16)x125+ 10+ ]-(2022-x)=100y+x

100y+200-+_]-2022+x=100y+x

200-+_]-2022=0

[ =2022-200=1822

% :[-1822
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